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20. 1

Use multiplication rules to determine the missing remainder for each problem.

1) 58÷10 = 5 r     8      2) 986÷5 = 197 r     1      

3) 748÷2 = 374 r     0      4) 6,407÷2 = 3,203 r     1      

5) 94÷10 = 9 r     4      6) 7,945÷5 = 1,589 r     0      

7) 439÷2 = 219 r     1      8) 38÷5 = 7 r     3      

9) 38÷10 = 3 r     8      10) 60÷5 = 12 r     0      

11) 2,186÷5 = 437 r     1      12) 4,871÷2 = 2,435 r     1      

13) 798÷5 = 159 r     3      14) 622÷2 = 311 r     0      

15) 77÷2 = 38 r     1      16) 59÷10 = 5 r     9      

17) 8,012÷5 = 1,602 r     2      18) 477÷2 = 238 r     1      

19) 570÷2 = 285 r     0      20) 21÷10 = 2 r     1      
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